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Sample Question Paper
SCIENCE

Class-IX
Term - 1 (2011-2012)

TIME : 3 Hrs. MM : 90

GENERAL INSTRUCTIONS :

f)
ii)
i

v)

V)

Vi)

Vi)

i)

X)

The question paper comprises of two sections, A and B, You are to attempt both the sections.

All questions are compulsory.

There is no overall choice. However internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 3in section Aare one mark questions. These are to be answered in
one word or one sentence.

Question numbers 4to 7 are two mark questions, to be answered in about 30 words each.

Question numbers 8 to 19 are three mark questions, fo be answered in about 50 words
each.

Question numbers 20 to 24 are five mark questions, to be answered in about 70 words
each.

Question number 25 to 42 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate
response out of the four provided to you.
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SECTION -A

A gas jar containing air is inverted over ancther containing NO, gas which is brown in colour
and heavier than air. Afier some time brown colour is seen inthe inverted gas jar too. kdentify
the phemomenon associated with this observation.

A passenger ina maving train tossas a coin which falls behind him, State the type of motion
of the train.

Name the plastid involved in conversion of a green tomato to red.
List four reasons to support that water is a compound and not a mixture,

A man weighs 600N on the surface of earth. What would be his mass and weight on the
surface of moon? (take of g, = 10m/s®).

State one feature that is similar and one feature that is dissimilar with respect to mitochondria
and plastids.

Show the location of meristematic tissues in a plant diagramatically. Which meristemn is
responsible for the transformation of the stem of a plant into the trunk when it grows into a
trea?

(a) A spoonful of sugaris added fo a beaker contamning 500 ml of water and stirred for a
while. State any two observations that you will make.

(0} Account for vour observations.

Distinguish beteesn homogeneous and helerogeneous mixture, Classify the following mixures
as homagensous and heteragensous -

(i Tincture of iodine
(i} Smoke

(i} ~ Brass

{iv)  Sugarsolution

Derive graphically the equation for postion-imes relation for an object travelling a distance 's’
in time ' under uniform acceleration.

State the law of inertia. Why dowe fall in the forward direction if a moving bus stops suddenly
and fall in the backward diraction if it suddenly acceleratas from rest?
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12, What happens to the magnitude of the force of gravitation betwesn two cbjects if -

(i Distance between the objects is npled?

(i) Mass of both objects doubled?

(i}  Mass of both objects aswell as the distance between them is doubled?
13.  Derivethe relation between force and acceleration. Define one unit of force.
14, Astone dropped from a window reaches the ground in 0.5 seconds -

N Calculate its speed just befare it hits the ground.

(i Wheat ie its average spead during 0.5 67

(i}  Calculate the height of window from the ground.
15.(a) State two ways inwhich phloem is functionally different from xylem.

(b} Drawaneatdiagram of 2 section of phloem and label four parts,

16, Give aneg important funchional difference amongst the muscle hssues and draw a labelled
diagram of fhe muscle tissue which never shows fatigue.

17.  Which cell organelle would you associate with elimination of old and worn out calls? Why?

18, Slate one difference between dugwells and lubewells. Explain any two fresh initiatives taken
to increase the water available for agriculture.

19, {a) Which two factors bring about loss of food grains during storage? Give one example for
each.

{b] State any two control measures to b taken before grains are stored.

20. (a) Distinguish amang true solution, suspension and colloid in a tabular form under the following
heads:

(i Stability (i) Filterability
(it} Type of mixture

(B] What s mearnt by concentration of & salution® Howwill you prepare a 10% solution of glucoss
inwater?
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OR

{a) Draw a neat and labelled diagram of the apparatus used to separate components of blue-
black ink. Name the process and state the principle involved,

(b) Identify the physical and chemical changes from the following:
(i)  Buming of magnesiumin air.
(i)  Tamishing of silver spoon.
(i}  Sublimation of iodine.
(iv)  electrolysis of water,
21. {a) State one similarity and one difference between evaporation and bailing,
(b) Listfour factors which affect the rate of evaporation.
(c) Describe an activity to show that water vapour is present in air.
OR
Distinguish solids, liquids and gases in a tabular form under the following characteristics-
(i)  Rigidity
(i)  Compressibility
(it} Inter-particle forces of attraction
(iv) Inter-particle spaces
(v) Kinetic energy of particles
22.  Dsfine momentum. State its S.1. unit.
An object of mass 50 kg. is accelerated uniformly from a velocity of 4ms™' to 8ms™ in 8s.

Calculate the initial and final momentum of the object. Also find the magnitude of the force
exerted on the cbject.

OR

State the law of conservation of momentum. Why is a person hit harder when he falls on a
hard floor than when he falls on sand from the same height?

A bullet of mass 20g is fired horizontally with a velocity 100ms™ from a pistol of mass 1. 5kg.
Calculate the recal velocty of the pistol.
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23, Thevelocity time graph for an object is shown in the following figure,

Hml"

0 Sigte the kind of motion that the above graph repressnts.
(iy  What does the slope of the graph represent’?
(iii}  Vihat does the araa undar the graph reprasent?
(iv)  Calculate the distance travelled by the object in 155,
OR

The velocity time graph of a body is given as follows-

Thena (8}
R —

) State the kind of motion represented by OA; AB.
iy What is the velocity of the body after 10s and after 40s7
(i} Calowlats the retardaton of the body.

(iv)  Caloulzate the distancs coverad by the body between 10th and 30th second.
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How can crop variety imgrovemant methads come o the rescus of farmers facing repeatad
crop failures? Dascribe three factors for which they could do crop improvement.

Which is the most common method of obtaining improved variety of crops? Explain briefly.
OR

A poultry farmer wants to increase his broder producton. Explain three managsment practices
he must follow to enhance the yield.

Inwhat way is the daily food requirament of broilers differant from those of egg layers?

SECTION B
Four students prepared mixtures in water by taking sugar, sand, chalk power and starch
respectively, in four different lest iubes, After stiriing, the midure that appeared clear and
fransparent was that of
a) starch and water
b} chalk powder and water
i) sand and water
o) sugar and water
Rohit mixed starch with water, boiled the mixture well and stirred it. He observed that -
al starch floats on the surface of water
bl starch settles down at the bottom
) starch forms a translucent mixiurna

o) starch forms a transparant mixture

You are provided with @ mixture of iron filings and sulphur powder, When you add carbon-di-
sulphide to the mixture, you would cbserve

a) iron particles dissolve and the solution turns black
k) sulphur powder dissolves and the solution turns colouriess
i) sulphur powdesr dissolves and the solution turms yellow

d) iron particles dissolve and the solution tumns grey
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28.  Astrpof Magnesium metal is burnt in the flame. It is observed that
a) ayellowlight appears
b) a white dazzling light appears
c) magnesium starts melting
d) lot of black smoke is produced
29.  For determining the melting point of ice, the thermometer should be kept-
a)  withits bulb in the ice cubes
b) in contact with the inner wall of the beaker
c) a little above the ice cubes
d) intouch with the beaker from outside
30.  Astudenttakes some water in a beaker and heats it over a flame for determining its boiling
point. He keeps on taking its temperature reading. He observes that the temperature of the
water
a)  keepsonincreasing regularly
b)  keepsonincreasing irregularly
c) first increases slowly, then decreases rapidly and eventually becomes constant
d) firstincreases gradually and then becomes constant
31, The colour of sodium chloride and ammonium chloride respectively is-
a)  yellowandwhite
b)  white and yellow

¢)  botharewhite

d)  greyandyeliow
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In the laboratory. carbon-di-sulphide is used as a solvent to separate a mixture of iron filings
and sulphur powder. What precaution has to be taken with carbon-di-sulphide?

a) Keep away from water
b) Keep away from flame
c) Keep away from air

d) Keep away from ircn-sulphide

VWhen iron nails are placed in copper-sulphate solution, after 10 minutes, its blue colour
disappears and the solution appears

a) reddish Brown
b) blue

c) light blue

d) greenish

In an experiment to separate the components of a mixture of sand, common salt and ammonium
chloride, the component which will be removed by filteration is

a) sand

b) common salt

c) ammonium chloride

d) none of these

To study the third law of motion, following sets of apparatus are available in a laboratory.

set(i) One spring balance, twwo weight boxes, inextensible thread. cne pulley with a clamp,
two pans of known mass.

set (i) Two identical spring balances, one weight box, inextensible thread, one frictionless
pulley with a clamp, one pan of known mass, arigid support

set (i) Four identical spring balances, two pulleys, inextensible thread, two clamps, two
pans of known masses, two rigid support.

set (iv) Two identical spring balances, two weight boxes, two rigid supports, two pans of
known masses, inextensible thread. two frictionless pulleys with clamps.
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To perform the experimant successfully by using minimum apparatus, the best choice would

be:

a) set (i)
b) set (i)
c) set (i)
d) set (iv)

36. For doing the experiment, *to study the third law of motion using two spring balances”, four
students A.B,C and D set up their apparatus as shown below. The best set up is that of

student -
a) Student A b) Student B
c) Student C d) Student D
1A)
VYV O— 1YV VH o P
18 —T < Pan
Pulicy
t’ Pan
Pan
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The appearance of magenta colour, on adding conc. HCI to a given sample of solution of dal
confirms the presencs of

a) agremone oil in the dal

b) Potassium dichromate in the dal

c) saw dust in the dal

d) Metanil yellow inthe dal

The steps for conducting the starch test on the given sample of rice grains are
a) crush therice grains

b) add water to the tast tube

c) add few drops of iodine

d) boil the contents and filter

The most appropriate order in which the steps should be followed are:

a) ii, i, i, v
b) i, 1, 0l v
c) il v, i, i
d) i, v il

While preparing a temporary mount of the chesk cells, the reason behind staining the cells is
a) to prevent the cells from drying quickly

b) to preserve them

c) to disinfect them

d) to make the organelles clearly visible

Which of the observations noted by Arun about the parenchyma tissue is not correct?

a) The cells are thinwalled

b) Large cells placed together with intercellular spaces
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c) The cells are loosely packed
d) The cells are thick walled

41.  The formula used to calculate the percentage of water absorbed by raisins is

W, - W,
— x 100
wi1

W, in the formularefers to

a) mass of raisins before absorption of water
b) mass of raisine after absorption of water
c) mass of water left in the beaker at the end
d) mass of water absorbed by the raisins

42,  One of the following shows the correct diagramatic representation of a striped muscle fibre
when seen under the low power of a microscope?

’ obe’s
b p== 5
— R 13 (d)
3 — B % (i '
; = B’ n B ®
26, C "
A B c D - ®)
27, (c) 36, (a)
The comrect answer is il ] 37, (d)
a) A ) () 38 (d)
3 {d)
v B 30, (d)
o c y ” 40, (d)
3, C
i g 41, (b}
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